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Given the demand function p = 20 - 3x, where p and x
are respectively the price and the amount demanded of a
commodity, find the consumer surplus when x = 5. 4
Mu m qin @A p = 20 - 3x 8, A8l p T X FAW e
amy & geu o gt m a0 ¥ ST A ae oE AR
oy w A, 4
A man decides to deposit € SO00 at the end of each year
in a bank, which pays compound interest at the rate of
5% per annum. What will be his total accumulation at

the end of 15 years 7 [Given (1.05)" = 2.080}. 4
v st et B A lw md & o 3 T S000 A e

w frtg g B, A uft o S% A @ @ umgfe s
A by 1Sl 2 om A TEw wE dww w9 A 0 (R b

(1.05)" = 2.080] 4
Finl the locnl maximum and local minimum values of the
function: 2x'— 15x* - Y6x 118 4
WA 1Sk H IR R g e Au vy
g gel R w b 4
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) Findthe dual of the following LPP:
Minimize Z = x + 6y + 2z, subject to the constraints
x+3y25, 2x-y+z21.4x+y 2 I1land x.y.220.
4
Prfifea LPP & 8o am aifo
A #fre Z = x + 6y + 2z W x + 3y 2 5.
W -y+z2 1, d4x+y 211 ax,y.220 4

~ &) Find the compound interest on T 8,000 for 4 years at

10% per annum.

gird 10% 7T 4 7o 3 g T 8,000 w0 #FAfE &AW I
= A 4
=
f .  (a) Find the absolute maximum and absolute minimum
; values of the function : f (x) = x* + 2x + 3 on the
g interval [-3, 2) T2
5 Savd [-3,2] W e - f(x)=x*+2x+3 3 0m
=) Hftpem F91 5 ged g @ wa o Y

(b) A manufacturer can sell petrol operated x items at a price
of T(5- %Jcach. The cost price of petrol operated
x items is T {—g‘— + 500). Find the number of items he

should sell to eam maximum profit. Uk%:
@ Pt 39 TRE x 7 A TR TS ) B
™ W ™ @ & e A x 98 @ are ge
?(%+500}E|ﬂfawmeﬁamﬁ%ﬁﬂﬁﬁﬁ
ae wEl Ao s Ffor | T2
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From the following

for the final demands of 8 and 64 units for industry 1and
1l respectvely : Thz
Producing Input to Industry Final
Industry I n Dermuand

I 16 20 4
I 8 40 32

Prfifiae 37 amege & Faer wam 13 112 R 8 8
64 gl B S i & e FE IO W A Tve

IS T % foa AFE afaH
JEr I 1| P
1 16 20 4
H 8 A0 . ¥

(b)

(a)

12005

Find the consumers’s surpius and producer’s surphus under

pure competition for demand function p, = 8 _2and.

x+ |
supply function, p = 3 (x+3), where p is price and x is

the quantity. T4
T P, =y -2 T A e p, = x + 3),
T p AW W ox A Y, B R T qRdE & s
wﬁﬂﬁmmmaﬁmmm; T4

An annuity of equal payments at the beginning of every
six months for 5 years is to be calculated for T 10,000,

W, e
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5. (a)
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If the interest rate is 18% per annum compounded half
yearly, how much is each payment ? T
T 10,000 3 R g9 39 & 70 o9 B Wy 3 R
TS R OF e WO EA R o am T 18%
Wk a4 A g 30 2 AW A A Rw T e
am 7 2
A colour television worth ¥ 10,000 is purchased on
instalment plan under which 10 equal instalments including
intevest at 10% per annum are payable. Find the amount
of annual instalment.  http://www kuonline.in 7%
T 10,000 5 @5 i 2fom o deen 7 wlg am b}
PR s 10% W I wfRa 2g 10 aum e wffse
¥ ais Bew A iy wa S TV

A person has set up a sinking fund in order to have
T 1,00,000 after 10 years for his children’s college
education. How much amount should be set aside
bi-annually into an account paying 5% p.a. compounded
half yearly. T4
o @i 3 1079 & oEm A 7= | 7AW B @ g
¥ 1.00,000 7 #73 & fm ws Pl By A e A
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Rats Rl ofn & 9 st wfee Ty
If T570015 invested at 11% p.a.. find the amount after
3 years1f the interest 15 compounded continuously 744
ﬂﬁfﬁ?@éll‘iﬁﬁw%&m'@:ﬁ?t#Eﬂ
g m:z‘wﬁl@ﬂ e 77 TR A q@tes B B

T

-y
#

A sum of money invested al compound interest amounts

to¥ 2200 in one year and to T 2662 in three years. Find

the principal and the rate percent. e

T HoF N F FEgE @A T Ay oW v oor ooy

4 T2200 & vn ¥ oM A 2@ A T 2662 & wrn X

M am ofeR = WA S Tva

Find the compound interest of T 2400 at the rate of 8%
per annum for two years if the interest is calculated
quarterly. Ta
V2008 At 3 Fu 8% o @ &1 77 ¢ wgfe =@
WA B o s e R e e T

7. 1fa young man rides his motor cycle at 25km/hr, he has to

spend X 2 per km on petrol and if he rides it at a faster speed of

(12005 |
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40km/hr. the petrol cost increases 10 TS per kin. He has
T 100w spend on pewrod and wishes o find what is the maximum
distance he can travel within one hour. Express this as alinear
progristuning problem and then solve it graphically. 15
& o o qn aim awh BT e 28 Bl w o R A
JH e w0 T 2 ufq Pl esd oo e B oo afz g sifue, i
st 40 Bt s o gmven R A AR Ama ggne S T afa Bl
Aam bR R 7o A A T 008 W o
A amen R B a2 A e B sl R A gen B A
Y@ w Yaw dwi wwan & A1 # amA A oen @
Heda = A &9 Fifw
Solve the following L..P.P. by Simplex method :
Maximize Z =2x + ax.,
Subject to the constraints :
2x, + 3x, <48
X, + ?-x: <42
X, +Xx,<21
X,. %, 20 15
Frfofa L.PP. #1 Regden R g & #fte
s it | Z=2x +4x,,
Tt & -
2x, + 3x, <48
X, +3x,£42
X, +x,<2]
. XL X,20
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Find the dua and then solve the dual probelm by using Simplex

method :

Minimize Z=2x + 3x.,

subject to the constraints

X, +x, 21, 10x +x, 2 5, %, + 10x, 2 Jand x, 20, x, =),
IS

81w Abm an X Awmn B e B 3 v g e

A B . Z =25, + 3%, -
asd
xl+122 1, lﬂx|+x!25.xl+ lﬂx_,zlﬁmxlzﬂ,xlzﬂ_
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